Computers and Mathematics with Applications 63 (2012) 1111-1116

Contents lists available at SciVerse ScienceDirect



**Computers and Mathematics with Applications** 

journal homepage: www.elsevier.com/locate/camwa

# Some properties of log-convex function and applications for the exponential function

## Xiaoming Zhang<sup>a,\*</sup>, Weidong Jiang<sup>b</sup>

<sup>a</sup> Zhejiang Broadcast & Radio University Haining College, Zhejiang 314400, PR China <sup>b</sup> Department of Information Engineering, Weihai Vocational College, Weihai, Shandong province, 264200, PR China

ABSTRACT

#### ARTICLE INFO

Article history: Received 21 September 2009 Received in revised form 27 December 2010 Accepted 5 December 2011

Keywords: Log-convex function Integral inequality Taylor series expansion Estimation of remainder terms

#### 1. Introduction

Throughout the paper we assume that  $\mathbb{R}$ ,  $\mathbb{R}_{++}$  and  $\mathbb{N}$  respectively stands for real number set, positive real number set

mainder terms in Taylor series expansion is given.

In this paper, some properties of log-convex function are researched, and integral inequal-

ities of log-convex functions are proved. As an application, an estimation formula of re-

Crown Copyright © 2011 Published by Elsevier Ltd. All rights reserved.

and natural number set. Recall that the definition of a log-convex function.

**Definition 1.** Let  $f : [a, b] \subseteq \mathbb{R} \to \mathbb{R}_{++}$ . Then f is called a log-convex(concave) function, if

 $f(\alpha x + (1 - \alpha)y) \le (\ge)(f(x))^{\alpha}(f(y))^{1 - \alpha}$ 

holds for any  $x, y \in [a, b], \alpha \in [0, 1]$ .

The authors of [1] proved the following results on the log-convex functions.

**Theorem 1.** Let  $f : [a, b] \subseteq \mathbb{R} \to \mathbb{R}_{++}$  be log-convex (concave), denote

$$M = \begin{cases} \frac{(b-a)(f(b) - f(a))}{\ln f(b) - \ln f(a)}, & \text{if } f(a) \neq f(b);\\ (b-a)f(a), & \text{if } f(a) = f(b). \end{cases}$$

Then

 $\int_a^b f(t)dt \le (\ge)M.$ 

\* Corresponding author. Tel.: +86 13957359895.

E-mail addresses: zjzxm79@126.com (X. Zhang), jackjwd@163.com (W. Jiang).

<sup>0898-1221/\$ –</sup> see front matter Crown Copyright © 2011 Published by Elsevier Ltd. All rights reserved. doi:10.1016/j.camwa.2011.12.019

The aim of this paper is to show some results on the log-convex functions. In Section 2, we give some integral properties of the log-convex function, including a lower bound of its integral inequality. As an application, in Section 3, an estimation formula of remainder terms in Taylor series expansion of  $e^{x}(x > 0)$  is given. This result is better than the result in [2,3] or [4].

#### 2. Some properties of the log-convex function

**Theorem 2.** (i) Let  $f : [a, b] \to [0, +\infty)$  be a strictly decreasing and differentiable function, f(x) > 0 for  $x \in (a, b]$ . Define  $F(x) = \int_a^x f(t) dt$  with  $x \in (a, b]$ . Then F is a log-concave function.

- (ii) Let  $f : [a, b] \to [0, +\infty)$  be a twice differentiable log-concave function. (iii) Let  $f : [a, b] \to [0, +\infty)$  be a twice differentiable log-concave function, f(x) > 0 and f'(x) > 0 for  $x \in (a, b]$ . Define  $F(x) = \int_a^x f(t) dt$  with  $x \in (a, b]$ . Then F is a log-concave function. (iii) Let  $f : [a, b] \to [0, +\infty)$  be a twice differentiable log-convex function, f(x) > 0 and f'(x) > 0 for  $x \in (a, b]$ ,  $\lim_{x \to a+} f^2(x)/f'(x) = 0$ . Define  $F(x) = \int_a^x f(t) dt$  with  $x \in (a, b]$ . Then F is log-convex function.

**Proof.** We only prove (ii), the other proof is similar.

Let

$$G(x) := \frac{F''(x)F(x) - (F'(x))^2}{f'(x)}, \quad x \in (a, b]$$

Then

$$G(x) = \frac{\left(\int_{a}^{x} f(t)dt\right)'' \cdot \int_{a}^{x} f(t)dt - f^{2}(x)}{f'(x)}$$
  
=  $\int_{a}^{x} f(t)dt - \frac{f^{2}(x)}{f'(x)}.$ 

and

$$\begin{aligned} G'(x) &= f(x) - \frac{2f(x)(f'(x))^2 - f^2(x)f''(x)}{(f'(x))^2} \\ &= f(x) \cdot \frac{f(x)f''(x) - (f'(x))^2}{(f'(x))^2} \leq 0. \end{aligned}$$

Then *G* is decreasing. We have

$$G(x) \leq \lim_{x \to a+} G(x) = -\lim_{x \to a+} \frac{f^2(x)}{f'(x)} \leq 0,$$

and

 $F''(x)F(x) - (F'(x))^2 \le 0.$ 

The proof of (ii) is completed.  $\Box$ 

**Theorem 3.** Let  $f : [a, b] \subseteq \mathbb{R} \to \mathbb{R}_{++}$  be log-convex (concave),  $c \in (a, b)$ ,  $f'_{-}(c) \neq 0$  and  $f'_{+}(c) \neq 0$ . Then

$$\int_{a}^{b} f(t)dt \ge (\le) \frac{(f(c))^{2}}{f'_{-}(c)} \left[ 1 - \exp\left(-(c-a)\frac{f'_{-}(c)}{f(c)}\right) \right] + \frac{(f(c))^{2}}{f'_{+}(c)} \left[ \exp\left((b-c)\frac{f'_{+}(c)}{f(c)}\right) - 1 \right],\tag{1}$$

the equality holds if and only if f is a  $pe^{qx}$ -type function, where  $p > 0, q \in \mathbb{R}$ .

**Proof.** Since  $f'_{\perp}(c) \neq 0$ , we can choose  $d \in (c, b)$  such that  $f(d) \neq f(c)$ . For any  $t \in (d, b)$  and  $\alpha = (d - c)/(t - c)$ ,  $d = (1 - \alpha)c + \alpha t$  hold. Then

$$f(d) = f((1 - \alpha)c + \alpha t) \le (\ge)(f(c))^{1 - \alpha}(f(t))^{\alpha},$$
  

$$f(t) \ge (\le)(f(d))^{(t-c)/(d-c)}(f(c))^{-(t-d)/(d-c)}.$$
(2)

Therefore.

$$\int_{d}^{b} f(t)dt \ge (\le) \int_{d}^{b} (f(d))^{(t-c)/(d-c)} \cdot (f(c))^{-(t-d)/(d-c)} dt$$
$$= \frac{(f(c))^{d/(d-c)}}{(f(d))^{c/(d-c)}} \int_{d}^{b} \left(\frac{f(d)}{f(c)}\right)^{t/(d-c)} dt$$

$$= \frac{(d-c)(f(c))^{d/(d-c)}}{(f(d))^{c/(d-c)}(\log f(d) - \log f(c))} \left[ \left( \frac{f(d)}{f(c)} \right)^{b/(d-c)} - \left( \frac{f(d)}{f(c)} \right)^{d/(d-c)} \right]$$
$$= \frac{(d-c)f(d) \left[ \left( \frac{f(d)}{f(c)} \right)^{(b-d)/(d-c)} - 1 \right]}{\log f(d) - \log f(c)}.$$

Let  $d \rightarrow c+$ , we have

$$\begin{split} \int_{c}^{b} f(t)dt &\geq (\leq) \lim_{d \to c+} \frac{f(d) \left[ \exp\{(b-d) (\log f(d) - \log f(c)) / (d-c)\} - 1 \right]}{(\log f(d) - \log f(c)) / (d-c)} \\ &= f(c) \lim_{d \to c+} \frac{\left[ \exp\left\{ (b-c) \frac{\log f(d) - \log f(c)}{f(d) - f(c)} \cdot \frac{f(d) - f(c)}{d-c} \right\} - 1 \right]}{\frac{\log f(d) - \log f(c)}{f(d) - f(c)} \cdot \frac{f(d) - f(c)}{d-c}} \\ &= \frac{(f(c))^{2}}{f'_{+}(c)} \left\{ \exp\left( (b-c) \frac{f'_{+}(c)}{f(c)} \right) - 1 \right\}. \end{split}$$

Similarly, we get

$$\int_a^c f(t)dt \ge (\le) \frac{(f(c))^2}{f'_-(c)} \left(1 - \exp\left\{-(c-a)\frac{f'(c)}{f(c)}\right\}\right).$$

Hence

$$\int_{a}^{b} f(t)dt = \int_{a}^{c} f(t)dt + \int_{c}^{b} f(t)dt$$
  

$$\geq (\leq) \frac{(f(c))^{2}}{f'_{-}(c)} \left[ 1 - \exp\left(-(c-a)\frac{f'(c)}{f(c)}\right) \right] + \frac{(f(c))^{2}}{f'_{+}(c)} \left[ \exp\left((b-c)\frac{f'_{+}(c)}{f(c)}\right) - 1 \right].$$

Because of (2), the above equality holds if and only if

$$f(\alpha x + (1 - \alpha)y) = (f(x))^{\alpha} \cdot (f(y))^{1 - \alpha}$$

holds for any  $x, y \in [a, b], \alpha \in (0, 1)$ . Then there exists  $q, m \in \mathbb{R}$ , such that

 $\log f(x) = qx + m, \qquad f(x) = e^m (e^q)^x.$ 

The proof of Theorem 3 is completed.  $\Box$ 

**Corollary 1.** Let  $f : [a, b] \subseteq \mathbb{R} \to \mathbb{R}_{++}$  be a log-convex(concave) function,  $c \in [a, b]$  and  $f'(c) \neq 0$ . Then

$$\int_{a}^{b} f(t)dt \ge (\le) \frac{(f(c))^{2}}{f'(c)} \left[ \exp\left((b-c)\frac{f'(c)}{f(c)}\right) - \exp\left(-(c-a)\frac{f'(c)}{f(c)}\right) \right].$$

Particularly, if  $f'(a) \neq 0$ ,  $f'(b) \neq 0$  or  $f'((a + b)/2) \neq 0$ , we have

$$\int_{a}^{b} f(t)dt \ge (\le) \frac{(f(a))^{2}}{f'(a)} \left[ \exp\left( (b-a) \frac{f'(a)}{f(a)} \right) - 1 \right],$$

$$\int_{a}^{b} f(t)dt \ge (\le) \frac{(f(b))^{2}}{f'(b)} \left[ 1 - \exp\left( -(b-a) \frac{f'(b)}{f(b)} \right) \right],$$
(3)

or

$$\int_{a}^{b} f(t)dt \ge (\le) \frac{\left(f\left(\frac{a+b}{2}\right)\right)^{2}}{f'\left(\frac{a+b}{2}\right)} \left[ \exp\left(\frac{b-a}{2} \cdot \frac{f'\left(\frac{a+b}{2}\right)}{f\left(\frac{a+b}{2}\right)}\right) - \exp\left(-\frac{b-a}{2} \cdot \frac{f'\left(\frac{a+b}{2}\right)}{f\left(\frac{a+b}{2}\right)}\right) \right],$$

with equality holding if and only if *f* is a  $pe^{qx}$ -type function, where  $p > 0, q \in \mathbb{R}$ .

### 3. Some applications

In this section, we firstly introduce the Definition 2 and some lemmas as follows.

**Definition 2** ([5–7]). Let interval  $I \subseteq \mathbb{R}_{++}$ ,  $f : I \to \mathbb{R}_{++}$ . Then f is called a geometrically convex function, if

 $f(x^{\alpha}y^{1-\alpha}) < (f(x))^{\alpha}(f(y))^{1-\alpha}$ 

holds for any  $x, y \in I, \alpha \in [0, 1]$ .

**Lemma 1.** Let interval  $I \subseteq \mathbb{R}_{++}$ ,  $f: I \to \mathbb{R}_{++}$  be a differentiable function, then the following assertions are equivalent:

(i) f is geometrically convex.

(ii) The function xf'(x)/f(x) is increasing.

If moreover f is twice differentiable, then f is geometrically convex if and only if

$$x[f(x)f''(x) - (f'(x))^2] + f(x)f'(x) \ge 0$$
(4)

holds for any  $x \in I$ .

**Lemma 2** ([6,7]). Let  $f : [0, a) \rightarrow [0, \infty)$  be a continuous function, which is geometrically convex on (0, a). Then F(x) = $\int_{0}^{x} f(t) dt$  is also geometrically convex on (0, a).

Recall equality 
$$e^x = \sum_{i=0}^{+\infty} x^i / i!$$
, let  $f_n(x) = e^x - \sum_{i=0}^n x^i / i!$ ,  $n = 0, 1, 2, ..., x > 0$ . According to [2,3] or [4],

$$f_n(x) \le \frac{x^{n+1}}{n!(n+1-x)}$$
 (5)

with n + 1 - x > 0. We can improve the result as the following Theorem 4. In Ref. [8], Alzer proves

$$\frac{f_{n-1}(x)f_{n+1}(x)}{(f_n(x))^2} > \frac{n+1}{n+2}.$$

We get the upper bound of  $f_{n-1}(x)f_{n+1}(x)/(f_n(x))^2$  in the following Theorem 5.

**Theorem 4.** Let  $f_n(x) = e^x - \sum_{i=0}^n x^i / i!, n = 0, 1, 2, ..., x > 0$ . Then

$$f_n(x) < \frac{2}{\sqrt{(n+1-x)^2 + 4x(n+1)e^{-x-n-1}} + (n+1-x)} \cdot \frac{x^{n+1}}{n!}.$$
(6)

If 0 < x < c, then

$$f_n(x) \le \frac{2}{\sqrt{(n+1-x)^2 + 4x(n+1)\exp\left(-\frac{cf_{n-1}(c)}{f_n(c)}\right)} + (n+1-x)} \cdot \frac{x^{n+1}}{n!}.$$
(7)

**Proof.** It is easy to see that  $f_{-1} : x \in \mathbb{R}_{++} \to e^x$  satisfies the conditions of (ii) in Theorem 2, where a = 0. So  $f_0(x) = \int_0^x f_{-1}(t) dt = e^x - 1$  ( $x \in \mathbb{R}_{++}$ ) is the log-concave function, and it is easily proved to satisfy the conditions of (ii) in Theorem 2. Repeating this, we find  $f_n(x) = \int_0^x f_{n-1}(t)dt$  ( $x \in \mathbb{R}_{++}$ ) are the log-concave functions. Let b = x, a = 0,  $f(x) = f_n(x)$ ,  $n \ge 0$  in (3), we have

$$\int_{0}^{x} f_{n}(t)dt \leq \frac{(f_{n}(x))^{2}}{f_{n}'(x)} \left[ 1 - \exp\left(-x\frac{f_{n}'(x)}{f_{n}(x)}\right) \right],$$
  
$$f_{n+1}(x) \leq \frac{(f_{n}(x))^{2}}{f_{n-1}(x)} \left[ 1 - \exp\left(-\frac{xf_{n-1}(x)}{f_{n}(x)}\right) \right].$$
(8)

Further,

$$\begin{split} f_{n+1}(x)f_{n-1}(x) &\leq (f_n(x))^2 \left[ 1 - \exp\left(-\frac{xf_{n-1}(x)}{f_n(x)}\right) \right], \\ \left( f_n(x) - \frac{x^{n+1}}{(n+1)!} \right) \left( f_n(x) + \frac{x^n}{n!} \right) &\leq (f_n(x))^2 \left[ 1 - \exp\left(-\frac{xf_{n-1}(x)}{f_n(x)}\right) \right], \\ \exp\left(-\frac{xf_{n-1}(x)}{f_n(x)}\right) \cdot (f_n(x))^2 + \left(\frac{x^n}{n!} - \frac{x^{n+1}}{(n+1)!}\right) f_n(x) - \frac{x^{2n+1}}{n!(n+1)!} \leq 0. \end{split}$$

Then

$$f_{n}(x) \leq \frac{-\left(\frac{x^{n}}{n!} - \frac{x^{n+1}}{(n+1)!}\right) + \sqrt{\left(\frac{x^{n}}{n!} - \frac{x^{n+1}}{(n+1)!}\right)^{2} + 4\exp\left(-\frac{xf_{n-1}(x)}{f_{n}(x)}\right) \cdot \frac{x^{2n+1}}{n!(n+1)!}}{2\exp\left(-\frac{xf_{n-1}(x)}{f_{n}(x)}\right)},$$

$$\leq \frac{\frac{2x^{2n+1}}{n!(n+1)!}}{\sqrt{\left(\frac{x^{n}}{n!} - \frac{x^{n+1}}{(n+1)!}\right)^{2} + 4\exp\left(-\frac{xf_{n-1}(x)}{f_{n}(x)}\right) \cdot \frac{x^{2n+1}}{n!(n+1)!}} + \left(\frac{x^{n}}{n!} - \frac{x^{n+1}}{(n+1)!}\right)}{\sqrt{\left(n+1-x\right)^{2} + 4x(n+1)\exp\left(-\frac{xf_{n-1}(x)}{f_{n}(x)}\right)} + n!(n+1-x)}}.$$
(9)

On the other hand, taking into account that  $e^x = \sum_{i=0}^{+\infty} x^i / i!$ , we find

$$\frac{xf_{n-1}(x)}{f_n(x)} = \frac{x\left(e^x - \sum_{i=0}^{n-1} \frac{x^i}{i!}\right)}{e^x - \sum_{i=0}^n \frac{x^i}{i!}} = x + \frac{x \cdot \frac{x^n}{n!}}{e^x - \sum_{i=0}^n \frac{x^i}{i!}}$$
$$< x + \frac{x \cdot \frac{x^n}{n!}}{\frac{x^{n+1}}{(n+1)!}} = x + n + 1.$$
(10)

Taking (10) into (9), we complete the proof of (6). According to (4),  $f_{-1}$  is a geometrically convex function. By Lemma 2,  $f_0(x) = \int_0^x f_{-1}(t)dt = e^x - 1$  is a geometrically convex function. Repeating this,  $f_n(x) = \int_0^x f_{n-1}(t)dt$  are a geometrically convex. Owing to (ii) in Lemma 1, we know  $xf'_n(x)/f_n(x) = xf_{n-1}(x)/f_n(x)$  is increasing for  $x \in \mathbb{R}_{++}$ . If 0 < x < c, then  $xf_{n-1}(x)/f_n(x) \leq cf_{n-1}(c)/f_n(c)$ . According to (9), we have

$$f_n(x) \leq \frac{2x^{n+1}}{n!\sqrt{(n+1-x)^2 + 4x(n+1)\exp\left(-\frac{cf_{n-1}(c)}{f_n(c)}\right)} + n!(n+1-x)}.$$

This completes the proof of the (7).

**Remark 1.** (i) It is clear that (6) and (7) are better than (5). (ii) For the  $f_n(x)$  in Theorem 4, according to  $e^x = \sum_{i=0}^{+\infty} x^i / i!$ , we know that  $x^{n+1} / (n+1)!$  is the lower bound of  $f_n(x)$ .

**Corollary 2.** *Let*  $n > 1, n \in \mathbb{N}$ 

$$e - \sum_{i=0}^{n} \frac{1}{i!} < \frac{2}{\sqrt{n^2 + 4(n+1)e^{-n-2}} + n} \cdot \frac{1}{n!} < \frac{1}{n \cdot n!}.$$

Let x = 1 in (6), we easily prove Corollary 2. Owing to inequalities (8) and (10), the following Theorem 5 holds.

**Theorem 5.** Let  $f_n(x) = e^x - \sum_{i=0}^n x^i / i!, n = 0, 1, 2, ..., x > 0$ . Then

$$\frac{f_{n-1}(x)f_{n+1}(x)}{(f_n(x))^2} \le 1 - \exp\left(-\frac{xf_{n-1}(x)}{f_n(x)}\right) < 1 - \exp(-x - n - 1).$$

#### Acknowledgments

The first author is supported by the Nature Science Foundation (No. 11071069) of China. The second author is supported by the Project of Shandong Province Higher Educational Science and Technology Program under grant No. J11LA57.

#### References

- J.C. Kuang, Applied Inequalities, third ed., Shandong Science and Technology Press, Jinan City, Shandong Province, China, 2004 (in Chinese).
   M. Merkle, Inequalities for residuals of power series, a review, Yniv Beograd. Publ. Elektrotehn. Fak. Ser. Mat. 6 (1995) 79–85.

P.M. Gill, C.E.M. Pearce, J. Pečarić, Hadamard's inequality for r-convex functions, J. Math. Anal. Appl. 215 (1997) 461-470.

- [4] D.S. Mitrinovic, Analytic Inequalities, Springer-Verlag, 1970.
  [5] J. Matkowski, L<sup>P</sup>-like paranorms, selected topics in functional equations and iteration theory, proceedings of the Austrian-Polish seminar, Grazer Math. Ber. 316 (1992) 103–138.
  [6] P. Montel, Sur les functions convexes et les fonctions sousharmoniques, J. de Math. 7 (1928) 29–60.
  [7] C.P. Niculescu, Convexity according to the geometric mean, Math. Inequal. Appl. 3 (2000) 155–167.
  [8] Horst Alzer, An inequality for the exponential function, Arch. Math. 55 (1990) 462–464.